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O%ZMS SXIZ2I(2H4)
5,000, 0002 x4 A 122 95% 114,000 120,000 26,000
OBELMRIT stzedX 20|
1,500, 00024 x20H A 122 +95% 34,200 36,000 A1,800
OAIEZH| Kb 30,000, 0002 955% 28,500 30,000 A1,500
Odt+Z Xl AIE HIIZ SISHHRIH)
170,00021%2, 300 +955% 371,450 391,000 £19,550
Ost+Z&E Stz
260, 0002 *100= +95% 24,700 26,000 A1,300
OXYAIL (1044) sH+&2iX 28|
3,500, 0002 122 %957% 39,900 42,000 £2,100
OToC= 4= ||
500, 00024 +2CH 122 955% 11,400 12,000 £600
OHIAgE)| K87
140021+ 100L*3CH+95% 3% 420 A2
206 THE bl 78,125 187,500 £9,375
01 HE b 78,125 187,500 £9,375
O«ZAHA A% 2
6,500, 0002+ 122 955% 74,100 78,000 £3,900
Ostez2iXl g4l 94 7Y
6,000, 000! 122 +955% 68,400 72,000 £3,600




S AStEC
M ST 242
S BIHEI|ZAIL 22| - SY(BHIIZAILELZN) (CHol: &S1)
A - 3 - S2A(FH) - MRAY - BES 04| AkeH J 3 N Hnsz2
OZQIHeIAlE 2E 72
250, 0002 * 150 = %95% 35,625 37,500 A 1,875
401 Al&H|2L2HY] 1,144,275 1,204,500 160,225
01 Al&H] 1,144,275 1,204,500 AB0,225
OZ220t=HMlAlE HSEHIL =4
800,000 *70IH A *95% 53,200 56,000 22,800
OntSstaHMel AL HES
15,000, 0002 * 1074 A *95% 142,500 150,000 A7,500
O2SXeld HE 2t
20,000,000 *95% 19,000 20,000 A1,000
OXYAIL LSEH| DR
1,500,000 * 154 *95% 21,375 22,500 21,125
ORAs=)| CSZEH B4(8d, 01X, 4S)
22,000,000 *37H A *95% 62,700 66,000 /3,300
OBt=HeIAlL HSEHIE HI N
20,000, 000! *3IH A*95% 57,000 60,000 A3,000
OBt=HMEIAlE JI=RT 20 A ZAHL
F,XeIANE, 22) 300, 000, 000! *95% 285,000 300,000 A 15,000
Oft==HMel& JIsrc 29 (245 Hel&, 6t
S2) 360,000, 000! *95% 342,000 360,000 18,000
Odt=XMel& FHI|oHEEA
30,000,000 *95% 28,500 30,000 A1,500
OBt=HMel& HUKNEHA
40,000,000 *95% 38,000 40,000 22,000
O=Ha =AESIAIE gXl22]
50,000,000 *95% 47,500 50,000 22,500
O=HHE 2ZFSAIE ZLIHYE 89
50,000, 000! *95% 47,500 50,000 22,500
A =AIE JHA 389,500 410,000 20,500
401 AlEHIZL 2] 389,500 410,000 220,500
01 Al&H] 389,500 410,000 220,500
L& GHHEIAE AlEHE
150,000, 000! *95% 142,500 150,000 27,500
OYlg sl-xeld AZ22AUT AL
50,000, 000! *95% 47,500 50,000 22,500
HolE St SYAIMES N2,
0IdI=) AIEMHA 180,000, 000! *95% 171,000 180,000 29,000
OZHMsH ol AlEE2 &R
30,000,000 *95% 28,500 30,000 21,500




